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11. A rectangular box with an open top. measuring 2 by 2 by 3, is constructed.
Its vertices are labelled as shown. o) Yaw &= (’:,1 .7«)
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a. Determine the distance from A to the line segment HB.

b. What other vertices on the box will give the same distance to HB as the
distance you found in part a.?

¢. Determine the area of the AAHB.
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10. The point A(2, 4, —5) is reflected in the line with equation

7=1(0,0,1) + 5(4,2,1), seR, to give the point A". Determine the
coordinates of A",
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9. Two planes with equations x — y + 2z = 2 and x + v — z = —2 intersect

along line L. Determine the distance from P(—1, 2, —1) to L, and determine
the coordinates of the point on L that gives this minimal distance.
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5. Points A(1, 2, 3). B(—3. —1.2), and C(13.4, —1) lie on the same plane.
Determine the distance from P(1, —1, 1) to the plane containing these three
points.

6. The distance from R(3, —3, 1) to the plane with equation Ax — 2y + 6z = 0
is 3. Determine all possible value(s) of A for which this is true.
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